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 ZmoQ>  NOTE 

(I) H¥$n`m Om±M H$a b| {H$ Bg àíZ-nÌ _o§ _w{ÐV 
n¥ð> 19 + 2 _mZ{MÌ h¢ & 

(I) Please check that this question 

paper contains 19 printed pages  

+ 2 Maps. 

(II) àíZ-nÌ _| Xm{hZo hmW H$s Amoa {XE JE H$moS 
>Zå~a H$mo N>mÌ CÎma-nwpñVH$m Ho$ _wI-n¥ð> na 
{bI| & 

(II) Code number given on the right 

hand side of the question paper 

should be written on the title page of 

the answer-book by the candidate. 

(III) H¥$n`m Om±M H$a b| {H$ Bg àíZ-nÌ _|  
>30 àíZ h¢ & 

(III) Please check that this question 

paper contains 30 questions. 

(IV) H¥$n`m àíZ H$m CÎma {bIZm ewê$ H$aZo go 
nhbo, CÎma-nwpñVH$m _| àíZ H$m H«$_m§H$ 
Adí` {bI| & 

(IV) Please write down the Serial 

Number of the question in the 

answer-book before attempting it. 

(V) Bg  àíZ-nÌ  H$mo n‹T>Zo Ho$ {bE 15 {_ZQ >H$m 
g_` {X`m J`m h¡ &  àíZ-nÌ H$m {dVaU 
nydm©• _| 10.15 ~Oo {H$`m OmEJm &   
10.15 ~Oo go 10.30 ~Oo VH$ N>mÌ Ho$db 
àíZ-nÌ H$mo n‹T>|Jo Am¡a Bg Ad{Y Ho$ Xm¡amZ 
do CÎma-nwpñVH$m na H$moB© CÎma Zht {bI|Jo & 

(V) 15 minute time has been allotted to 

read this question paper. The 

question paper  will  be  distributed 

 at 10.15 a.m. From 10.15 a.m. to 

10.30 a.m., the students will read the 

question paper only and will not 

write any answer on the  

answer-book during this period. 
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gm_mÝ` {ZX}e : 

{ZåZ{b{IV {ZX}em| H$mo ~hþV gmdYmZr go n{‹T>E Am¡a CZH$m g™Vr go nmbZ H$s{OE : 

(i) àíZ-nÌ VrZ IÊS>m| _| {d^m{OV {H$`m J`m h¡ – H$, I Ed§ J &  

(ii) Bg àíZ-nÌ _| àíZm| H$s g§»`m 30 h¡ & g^r  àíZ A{Zdm`© h¢ & 

(iii) IÊS> H$ _| àíZ g§»`m 1 go 18 VH$ ~hþ{dH$ënr` àíZ h¢, àË`oH$ àíZ 1 A§H$ H$m h¡ & CÎma 
nwpñVH$m _| Ho$db ghr CÎma {b{IE & 

(iv) IÊS> I _| àíZ g§»`m 19 go 22 VH$ bKwCÎmar` àH$ma Ho$ àíZ h¢, àË`oH$ àíZ 3 A§H$m| H$m h¡ & 
àË`oH$ àíZ H$m CÎma bJ^J 80 go 100 eãXm| _| {b{IE &  

(v) IÊS> J _| àíZ g§»`m 23 go 28 VH$ XrK©-CÎmar` àíZ h¢, àË`oH$ àíZ 5 A§H$m| H$m h¡ & àË`oH$ 
àíZ H$m CÎma bJ^J 150 eãXm| _| {b{IE & 

 àíZ g§»`m 29 go 30 _mZ{MÌ g§~§{YV h¢ Omo {H$ H«$_e: ^m¡Jmo{bH$ {deofVmAm| H$s nhMmZ H$aZo 
VWm ñWmZ {ZYm©aU H$aZo Am¡a Zm_ {bIZo go g§~§{YV h¢, àË`oH$ àíZ 5 A§H$m| H$m h¡ & 

(vi) {XE JE ^maV Am¡a {díd H$s ê$naoIm Ho$ _mZ{MÌm| H$mo ^aH$a CÎmanwpñVH$m _| ZËWr H$s{OE &  

(vii) CÎma g§{já VWm {~ÝXþdma hmoZo Mm{hE Am¡a gmW hr Cn ẁ©º$ eãX gr_m H$m `Wmg§^d nmbZ 
H$s{OE & 

(viii) àíZ-nÌ _| g_J« na H$moB© {dH$ën Zht h¡ & VWm{n EH$-EH$ A§H$ dmbo 3 àíZm| _|, VrZ-VrZ 
A§H$m| dmbo 1 àíZ _|, nm±M-nm±M A§H$m| dmbo 4 àíZm| _| Am§V[aH$ {dH$ën {XE JE h¢ & Eogo àíZm| 
_| go Ho$db EH$ hr {dH$ën H$m CÎma {b{IE &  

(ix) BgHo$ A{V[aº$, Amdí`H$VmZwgma, àË`oH$ IÊS> Am¡a àíZ Ho$ gmW `Wmo{MV {ZX}e {XE JE h¢ & 

(x) ê$naoIm _mZ{MÌm| H$mo ItMZ| Ho$ {bE Q>oåßboQ> `m ñQ>|{gb H$m Cn`moJ H$aZo H$s AZw_{V h¡ & 

IÊS> H$ 

1. g§`wº$ amÁ` A_o[aH$m (g§.am.A.) Ho$ ZJar` joÌm| _| _{hbmAm| H$s A{YH$Vm H$m 
{ZåZ{b{IV _| go H$m¡Z-gm _w»` H$maU h¡ ?  1 

(A) nwéf J«m_rU joÌm| _| ahZo H$mo àmW{_H$Vm XoVo h¢  

(B) nwéfm| H$m Xÿgao Xoem| _| àdmg H$aZm  

(C) Za {eew H$s {ZåZ OÝ_ Xa  

(D) {demb amoµOJma Ho$ gwAdgam| H$m bm^ CR>mZo Ho$ {bE _{hbmAm| H$m J«m_rU joÌm| go 
ZJar` joÌm| H$mo AÝVà©dmh  
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General Instructions : 

Read the following instructions very carefully and strictly follow them : 

(i) This question paper comprises three Sections – A, B and C. 

(ii) There are 30 questions in the question paper. All questions are compulsory. 

(iii) Section A – Question nos. 1 to 18 are multiple choice questions (MCQs) 
carrying 1 mark each. Write only the correct answer in your answer sheet. 

(iv) Section B – Question nos. 19 to 22 are short answer type questions carrying  
3 marks each. Answer to them should not exceed 80 – 100 words each. 

(v) Section C – Question nos. 23 to 28 are long answer type questions carrying  
5 marks each. Answer to them should not exceed 150 words each. 

 Question numbers 29 to 30 are MAP questions related to identification and 
locating and labelling of geographical features respectively, carrying 5 marks 

each. 

(vi) The outline map of India and World provided to you must be attached within 
your answer sheet. 

(vii) Answers should be brief and to the point and the above word limit be adhered 
to as far as possible.  

(viii) There is no overall choice in the question paper. However, an internal choice 
has been provided in 3 questions of one mark, 1 question of three marks, 

4 questions of five marks and map question. You have to attempt Only one of 
the choices in such questions.  

(ix) However, separate instructions are given with each section and question, 
wherever necessary. 

(x) Use of template or stencils for drawing outline maps is allowed.    

SECTION A 

1. Which one of the following is a main cause for the excess of females in 

urban areas of United States of America (USA) ? 1 

(A) Males prefer to live in rural areas 

(B) Out-migration of males to other countries 

(C) Low birth rate of male child 

(D) Influx of females from rural to urban areas to avail vast job 

opportunities 
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2. {ZåZ{b{IV _| go H$m¡Z-gm OZg§»`m H$s dmñV{dH$ d¥{Õ Xem©Vm h¡ ? 1 

(A) {H$gr joÌ {deof _| Xmo g_`m| Ho$ ~rM OZg§»`m _| n[adV©Z  
(B) OÝ_ Am¡a _¥Ë`w H o$ AÝVa go ~‹T>Zo dmbr OZg§»`m  
(C) OÝ_ Am¡a _¥Ë`w Ho$ AÝVa go ~‹T>Zo dmbr OZg§»`m + Amàdmg – CËàdmg  
(D) OÝ_ + Amàdmg go OZg§»`m _| d¥{Õ  

3. {ZåZ{b{IV Xoem| _| go {H$g EH$ _| ‘ghH$mar H¥${f’ ~hþV g\$b h¡ ? 1 

(A) ^maV 
(B) MrZ 
(C) S>oZ_mH©$ 
(D) O_©Zr 

4. {ZåZ{b{IV _| go H$m¡Z-gm V¥Vr`H$ {H«$`mH$bmn h¡ ?  1 

(A) H¥${f 
(B) _Ëñ`Z 
(C) IZZ 
(D) n‹T>mZm 

5. g§gma Ho$ {H$g ^mJ _| ‘H$V©Z Am¡a XhZ’ H¥${f H$mo ‘Pyq_J’ Ho$ ê$n _| OmZm OmVm h¡ ? 1 

(A) OmnmZ Ho$ hmoHo$S>mo àXoe 
(B) _Ü` A_o[aH$m 
(C) ^maV Ho$ CÎma-nydu amÁ` 
(D) nydu BÊS>moZo{e`m 

6. {ZåZ{b{IV ~pñV`m| Ho$ à{Vê$nm| _| go H$m¡Z-gm g‹S>H$m| Ho$ {H$Zmao {dH${gV hmoVm h¡ ?  1 

(A) Am`VmH$ma à{Vê$n 
(B) Q>r-AmH$ma à{Vê$n 
(C) Vmao Ho$ AmH$ma H$m à{Vê$n 
(D) a¡{IH$ à{Vê$n 

7. _ybV… AbJ-AbJ ZJam| `m eham| Ho$ Amng _| {_b OmZo go EH$ {demb ZJar` {dH$mg joÌ 
~Z OmVm h¡ & Cgo {ZåZ{b{IV Zm_m| _| go H$m¡Z-gm Zm_ {X`m OmVm h¡ ? 1 

(A) {dídZJar 
(B) _oJm {gQ>r 
(C) {_{b`Z {gQ>r 
(D) gÞJa 
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2. Which one of the following refers to actual growth of population ? 1 

(A) Change of population in a particular area between two points of 

time  

(B) Population increases by difference between births and deaths 

(C) Population increases by the difference of births and deaths plus  

in-migration minus out-migration 

(D) Increase in population by births plus in-migration 

3. In which one of the following countries is ‘cooperative farming’ very 

successful ?  1 

(A) India 

(B) China 

(C) Denmark 

(D) Germany 

4. Which one of the following is a tertiary activity ? 1 

(A) Farming 

(B) Fishing 

(C) Mining 

(D) Teaching 

5. In which part of the world is ‘slash and burn’ agriculture known as 

‘Jhuming’ ?  1 

(A) Hokkaido region of Japan 

(B) Central America 

(C) North-Eastern States of India 

(D) Eastern Indonesia 

6. Which one of the following patterns of settlements develops on either side 

of a road ?  1 

(A) Rectangular pattern 

(B) T-shaped pattern 

(C) Star-shaped pattern 

(D) Linear pattern 

7. Which one of the following names is given to a large area of urban 

development that resulted from the merging of originally separate towns 

or cities ?  1 

(A) Megalopolis 

(B) Mega City 

(C) Million City 

(D) Conurbation 



 

 .64/A/1 6 

8. {ZåZ{b{IV _| go H$m¡Z-gm g§`wº$ amï´> {dH$mg H$m`©H«$_ Ûmam {ZYm©[aV ZJar` aUZr{V H$m 
A§J Zht  h¡ ?  1 

(A) AmYma^yV godmE±, {ejm, g\$mB© d ñdÀN> Ob H$m àmdYmZ  
(B) D$Om© Cn`moJ VWm d¡H$pënH$ n[adhZ V§Ì H$mo CÞV ~ZmZm  
(C) _{hbmAm| H$s _yb^yV godmAm| VH$ nhþ±M _| gwYma  
(D) nwéfm| Ho$ {bE Amàdmg _| àmW{_H$Vm  

9. {ZåZ{b{IV _| go H$m¡Z-gr ZJam| H$s gm_m{OH$ g_ñ`m Zht  h¡ ?  1 

(A) e¡{jH$ Am¡a ñdmñÏ` gw{dYmAm| H$s Aàmß`Vm  
(B) amoµOJma H$s H$_r  
(C) nwéf M`ZmË_H$ àdmg  
(D) AZw{MV _bOb àUmbr  

10. {ZåZ{b{IV _| go H$m¡Z-gm ‘^maV H$s amï´>r` ẁdm Zr{V’ H$m ‘g~b {~ÝXþ’ Zht  h¡ ? 1 

(A) {ZU©` boZo _| gh^m{JVm  
(B) `mo½` ZoVm Ho$ Xm{`Ëdm| H$m dhZ H$aZm  
(C) _{hbmAm| Am¡a b‹S>{H$`m| H$mo g~b ~ZmZm  
(D) nwéf CËàdmg  

11. 2011 H$s OZJUZm Ho$ AZwgma ^maV Ho$ {ZåZ{b{IV amÁ`m| _| go {H$g_| ZJarH$aU H$m 
g~go H$_ ñVa h¡ ? 1 

(A) PmaIÊS> 
(B) {h_mMb àXoe 
(C) {~hma 
(D) Ag_ 

12. {H$g àH$ma H$s J«m_rU ~pñV`m±, JwOamV Ho$ _¡XmZ Am¡a amOñWmZ Ho$ Hw$N> ^mJm| _| ì`mnH$ 
ê$n go nmB© OmVr h¢ ? 1 

(A) JwpÀN>V ~pñV`m±  
(B) AY©-JwpÀN>V ~pñV`m±  
(C) n„r ~pñV`m±  
(D) n[a{já ~pñV`m± 

 AWdm 
 {H$g àH$ma H$s J«m_rU ~pñV`m±, J§Jm Ho$ _Ü` Am¡a {ZåZ _¡XmZm| _| ì`mnH$ ê$n go nmB© OmVr 

h¢ ? 1 

(A) JwpÀN>V ~pñV`m±  
(B) AY©-JwpÀN>V ~pñV`m±  
(C) n„r ~pñV`m±  
(D) n[a{já ~pñV`m±  
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8. Which one of the following is not a part of urban strategy as outlined by 

UNDP ?  1 

(A) Provision of basic services, education, sanitation and clean water 

(B) Upgrading energy use and alternative transport system 

(C) Improving women’s access to basic services 

(D) Preference for male in-migration 

9. Which one of the following is not a social problem faced by the towns ?  1 

(A) Non-availability of educational and health facilities 

(B) Lack of employment 

(C) Male selective migration 

(D) Improper sewage system 

10. Which one of the following is not a ‘thrust point’ of ‘National Youth Policy 

of India’ ?  1 

(A) Participation in decision-making 

(B) Carrying the responsibility of an able leader 

(C) Empowering women and girls 

(D) Male out-migration 

11. Which one of the following States has the lowest level of urbanisation in 

India as per 2011 census ? 1 

(A) Jharkhand 

(B) Himachal Pradesh 

(C) Bihar 

(D) Assam 

12. Which type of rural settlements are largely found in Gujarat plains and 

in some parts of Rajasthan ? 1 

(A) Clustered settlements 

(B) Semi-clustered settlements 

(C) Hamleted settlements 

(D) Dispersed settlements 

            OR 

 Which type of rural settlements are largely found in Middle and Lower 

Ganga plains ? 1 

(A) Clustered settlements 

(B) Semi-clustered settlements 

(C) Hamleted settlements 

(D) Dispersed settlements 
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13. {ZåZ{b{IV _| go H$m¡Z-gm ^maV _| g~go ~‹S>m ‘ZJar` g§Hw$b’ h¡ ? 1 

(A) H$mobH$mVm 

(B) d¥hX² _wå~B© 

(C) {X„r 

(D) MoÞB© 

14. ^maV _| {ZåZ{b{IV amÁ`m| _| go H$m¡Z-gm ‘A^«H$’ H$m g~go ~‹S>m CËnmXH$ amÁ` h¡ ?  1 

(A) JwOamV 

(B) N>ÎmrgJ‹T> 

(C) {~hma 

(D) PmaIÊS> 
 AWdm 

 ^maV _| {ZåZ{b{IV amÁ`m| _| go H$m¡Z-gm ‘~m°ŠgmBQ>’ H$m g~go ~‹S>m CËnmXH$ amÁ` h¡ ?$ 1 

(A) _hmamï´> 

(B) amOñWmZ 

(C) Amo{S>em 

(D) AmÝY« àXoe  

15. ZrMo Xr JB© Vm{bH$m _| Cn`wº$ eãXm| go A Am¡a B Ho$ [aº$ ñWmZm| H$mo nyam H$s{OE :  
2
1

2
1
 =1 

  

16. {ZåZ{b{IV H$maUm| _| go {H$gHo$ H$maU H$m|H$U aobdo H$mo A{^`m§{ÌH$s H$m EH$ AZyR>m 
M_ËH$ma _mZm OmVm h¡ ? 1 

(A) `h 760 {H$_r bå~m aob_mJ© h¡ & 

(B) `h gwa§Jm| H$mo nma H$aVm h¡ & 

(C) `h 146 Z{X`m| d YmamAm|, 2000 nwbm| Ed§ 91 gwa§Jm| H$mo nma H$aVm h¡ & 

(D) `h _hmamï´>, Jmodm VWm H$Zm ©Q>H$ H$mo Omo‹S>Vm h¡ & 
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13. Which one of the following is the largest ‘Urban Agglomeration’ in India ? 1 

(A) Kolkata 

(B) Greater Mumbai 

(C) Delhi 

(D) Chennai 

14. Which one of the following States is the largest producer of ‘Mica’ in  

India ?  1 

(A) Gujarat 

(B) Chhattisgarh 

(C) Bihar 

(D) Jharkhand 

            OR 

 Which one of the following States is the largest producer of ‘Bauxite’ in 

India ?  1 

(A) Maharashtra 

(B) Rajasthan 

(C) Odisha 

(D) Andhra Pradesh 

15. Complete the following table by writing the appropriate terms at  

A and B :  
2
1

2
1
 =1 

  

16. For which one of the following reasons, is Konkan Railway considered an 

engineering marvel ? 1 

(A) It is 760 kms long. 

(B) It passes through tunnels. 

(C) It crosses 146 rivers or streams, 2000 bridges and 91 tunnels. 

(D) It connects Maharashtra, Goa and Karnataka. 
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17. {ZåZ{b{IV _| go {H$g g_yh _| ‘ñd{U©_ MVw^w©O’ Ho$ g~go CÎmar Am¡a g~go nydu {~ÝXþ  
h¢ ? 1 

(A) {X„r Am¡a _wå~B © 

(B) dmamUgr Am¡a MoÞB© 

(C) A_¥Vga Am¡a Bbmhm~mX 

(D) {X„r Am¡a H$mobH$mVm 
 AWdm 

 {ZåZ{b{IV _| go H$m¡Z-gm ‘CÎma-X{jU J{b`mao’ H$m g~go CÎmar {~ÝXþ h¡ ?  1 

(A) {X„r 

(B) M§S>rJ‹T> 

(C) lrZJa 

(D) boh 

18. {ZåZ{b{IV _| go H$m¡Z-gm Aåb dfm© H$m H$maU h¡ ? 1 

(A) Ob àXÿfU 

(B) dm`w àXÿfU 

(C) ^y àXÿfU 

(D) Üd{Z àXÿfU 

IÊS> I 

19. ‘‘^yJmob _| ^m¡{VH$ Am¡a _mZdr` n[aKQ>ZmAm| H$m dU©Z, _mZd eara aMZm-{dkmZ go àVrH$m| 

H$m à`moJ H$aVo hþE, ê$nH$m| Ho$ ê$n _| {H$`m OmVm h¡ &’’ CXmhaU XoH$a Bg H$WZ H$s 
ì`m»`m H$s{OE & 13=3 

20. AÝVam©ï´>r` ì`mnma {H$g àH$ma Xoem| Ho$ {bE hm{ZH$maH$ hmo gH$Vm h¡ ? ì`m»`m H$s{OE & 3 

AWdm 

 AÝVam©ï´>r` ì`mnma H$m hmoZm amï´>m| Ho$ {bE {H$g àH$ma nmañn[aH$ bm^Xm`H$ hmoVm h¡ ? 
ì`m»`m H$s{OE & 3 

21. ‘‘^maV _| ZJar` An{eï> {ZnQ>mZ EH$ J§^ra g_ñ`m ~Z J`m h¡ &’’ Bg H$WZ H$s nw{ï> 
H$s{OE & 3 
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17. Which of the following groups has the Northernmost and Easternmost 

nodes of the Golden Quadrilateral ? 1 

(A) Delhi and Mumbai 

(B) Varanasi and Chennai 

(C) Amritsar and Allahabad 

(D) Delhi and Kolkata 

 OR 

 Which one of the following is the Northernmost point on the ‘North-South 

Corridor’ ?  1 

(A) Delhi 

(B) Chandigarh 

(C) Srinagar 

(D) Leh 

18. Which one of the following is the cause of acid rainfall ? 1 

(A) Water pollution 

(B) Air pollution 

(C) Land pollution 

(D) Noise pollution 

 

SECTION B 

19. ‘‘The physical and human phenomena in Geography are described in 

metaphors using symbols from the human anatomy.’’ Explain the 

statement by giving examples. 13=3 

20. Explain how international trade can prove to be detrimental to the 

nations.  3 

OR 

 Explain how international trade is mutually beneficial to the nations. 3 

21. ‘‘Urban waste disposal has become a serious problem in India.’’ Support 

the statement.  3 
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22. {ZåZ{b{IV Vm{bH$m H$m gmdYmZrnyd©H$ AÜ``Z H$s{OE Am¡a CgHo$ ZrMo {XE JE àíZm| Ho$ 

CÎma {b{IE : 1+1+1=3 

Hw$Am| Am¡a ZbHy$nm| Ûmam Hw$b ewÕ qg{MV joÌ H$m à{VeV   

amÁ` à{VeV 

JwOamV 86·6 

amOñWmZ 77·2 

_Ü` àXoe 66·5 

_hmamï´> 65·0 

CÎma àXoe 58·21 

npíM_ ~§Jmb 57·6 

V{_bZmSw> 54·7 

(22.1) Cg amÁ` H$m Zm_ {b{IE Omo qgMmB© Ho$ {bE ^m¡_ Ob H$m gdm©{YH$ à{VeV 
Cn`moJ H$aVm h¡ & 

(22.2) qgMmB© Ho$ {bE ^m¡_ Ob Ho$ AË`{YH$ Cn`moJ Ho$ à^md Š`m hm|Jo ? 

(22.3) ^maV _| {XZ-à{V{XZ Ob H$s à{V ì`{º$ CnbãYVm Š`m| KQ> ahr h¡ ? ñnï> 
H$s{OE & 

ZmoQ> :  {ZåZ{b{IV àíZ Ho$db Ñ{ï>~m{YV narjm{W©`m| Ho$ {bE àíZ g§»`m 22 Ho$ ñWmZ na  
h¡ : 

 ^maV _| Ob g§gmYZm| H$s H$_r Ho$ {H$Ýht VrZ H$maUm| H$mo ñnï> H$s{OE & 13=3 

IÊS> J 

23. ‘_mZd {dH$mg’ H$s AdYmaUm H$mo ñnï> H$s{OE & _mZd {dH$mg H$m {dMma {H$g àH$ma 
g_Vm, gVVnmofUr`Vm, CËnmXH$Vm Am¡a geº$sH$aU H$s g§H$ënZmAm| na Am{lV h¡ ? 
ì`m»`m H$s{OE & 1+4=5 

24. g§gma _| ‘Cƒ àm¡Úmo{JH$s CÚmoJ’ H$s _w»` {deofVmAm| H$mo ñnï> H$s{OE &  15=5 

               AWdm 
 g§gma _| H¥${f-AmYm[aV CÚmoJm| H$s _w»` {deofVmAm| H$mo ñnï> H$s{OE & 15=5 
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22. Study the following table carefully and answer the questions that  

follow :   1+1+1=3 

Percentage of net irrigated area to total by wells and tube-wells 

State Percentage 

Gujarat 86.6 

Rajasthan 77.2 

Madhya Pradesh 66.5 

Maharashtra 65.0 

Uttar Pradesh 58.21 

West Bengal 57.6 

Tamil Nadu 54.7 

(22.1) Name the State that uses the highest percentage of groundwater 

for irrigation. 

(22.2) What would be the impact of excessive use of groundwater for 

irrigation ? 

(22.3) Why is the per capita availability of water declining day-by-day 

in India ? Explain.   

Note :  The following question is for the Visually Impaired Candidates 

only, in lieu of Q. No. 22 : 

 Explain any three causes for the depletion of water resources in India. 13=3 

 

SECTION C 

23. Explain the concept of ‘human development’. Elaborate how the idea of 

human development is supported by concepts of equity, sustainability, 

productivity and empowerment.  1+4=5 

24. Explain the main characteristics of ‘high-tech industry’ in the world. 15=5 

OR 

 Explain the main features of agro-based industries in the world. 15=5 
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25. {ZåZ{b{IV _mZ{MÌ H$m gmdYmZrnyd©H$ AÜ``Z H$s{OE Am¡a CgHo$ ZrMo {XE JE àíZm| Ho$ 
CÎma {b{IE :  1+1+3=5 

 

  
 

(25.1) Bg aob_mJ© Ho$ {H$Ýht Xmo ñQ>oeZm| Ho$ Zm_ {b{IE & 

(25.2) CZ Xmo Ob IÊS>m| Ho$ Zm_ {b{IE Omo Bg aob_mJ © go Ow‹S>o h ¢ & 

(25.3) Bg aob_mJ© Ho$ Am{W©H$ _hÎd H$s naI H$s{OE & 

 

ZmoQ> :  {ZåZ{b{IV àíZ Ho$db Ñ{ï>~m{YV narjm{W©`m| Ho$ {bE àíZ g§»`m 25 Ho$ ñWmZ na  
h¡ & 

 g§gma _| ‘dm`w n[adhZ’ Ho$ bm^m| Am¡a hm{Z`m| H$mo ñnï> H$s{OE & 3+2=5 

W E 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

     

 
 
 

E
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25. Study the following map carefully and answer the questions that  

follow :   1+1+3=5 

 

 
 

(25.1) Name any two stations of this railway. 

(25.2) Name the two water bodies that are connected by this railway.  

(25.3) Examine the economic significance of this railway. 

  

 

Note : The following question is for the Visually Impaired Candidates 

only, in lieu of Q. No. 25. 

 Explain the advantages and disadvantages of ‘Air Transport’, in the 

world.   3+2=5 
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    H¡$pñn`Z gmJa 
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26. ^maV _| OZg§»`m Ho$ Ag_ ñWm{ZH$ {dVaU Ho$ H$maUm| H$m {díbofU H$s{OE & 15=5 

         AWdm 

 ‘‘^maV _|, J«m_rU go ZJar` joÌm| _| nwéf àdmg CƒVa h¡; O~{H$ {ñÌ`m| H$m àdmg J«m_rU 

go J«m_rU joÌm| _| CƒVa h¡ &’’ H$maU XoH$a Bg H$WZ H$m {díbofU H$s{OE & 2
2

1
+2

2

1
=5 

27. {h_mMb àXoe Ho$ ^a_m¡a joÌ _| ewê$ H$s JB© OZOmVr` {dH$mg n[a`moOZm Ho$ bm^m| H$s naI 
H$s{OE & 5 

        AWdm 

 ‘B§{Xam Jm±Yr Zha H$_mZ joÌ’ _| nm[apñW{VH$s` gVVnmofUr`Vm àmá H$aZo Ho$ {bE CR>mE JE 

Cnm`m| H$s naI H$s{OE & 5 

28. ‘‘^maV H$m A{YH$Va {dXoer ì`mnma g_wÐr _mJm] Ûmam g§Mm{bV hmoVm h¡ &’’ Bg H$WZ Ho$ 

n[aàoú` _| ^maV Ho$ {dXoer ì`mnma Ho$ {dH$mg _| ^maVr` nÎmZm| H$s ^y{_H$m H$s ì`m»`m  

H$s{OE & 5 

        AWdm 

 ^maV _| ‘aob_mJm]’ Ho$ {dH$mg Am¡a _hÎd H$s CXmhaUm| g{hV ì`m»`m H$s{OE & 5 

29. ^maV Ho$ {XE JE amOZr{VH$ aoIm-_mZ{MÌ (n¥ð> 21 na) _| {ZåZ{b{IV _| go {H$Ýht nm±M  

^m¡Jmo{bH$ bjUm| H$mo Cn ẁº$ {M•m| Ûmam A§{H$V H$s{OE Am¡a CZHo$ Zm_ {b{IE :  51=5 

(29.1) _mZd {dH$mg gyMH$m§H$ (HDI) _| g~go {ZåZ ñVa dmbm amÁ` 

(29.2) H$m°µ\$s H$m AJ«Ur CËnmXH$ amÁ` 

(29.3) IoV‹S>r – Vm±~m ImZ| 

(29.4) {^bmB© – BñnmV g§`§Ì  

(29.5) Vob§JmZm _| gm°âQ>do`a àm¡Úmo{JH$s nmH©$   

(29.6) nyd©-npíM_ J{b`mao H$m npíM_r {gao H$m ñQ>oeZ 

(29.7) n§Om~ _| AÝVam©ï´>r` dm`wnÎmZ 
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26. Analyse the causes for the uneven spatial distribution of population in 

India.   15=5 

OR 

 ‘‘In India, male migration is higher from rural to urban areas while 

female migration is higher from rural to rural areas.’’ Analyse the 

statement by giving reasons. 2
2

1
+2

2

1
=5 

27. Examine the advantages of Tribal Development Project, launched in 

Bharmour region of Himachal Pradesh. 5 

OR 

 Examine the measures to be undertaken to achieve ecological 

sustainability in the ‘Indira Gandhi Canal Command Area’. 5 

28. ‘‘Most of India’s foreign trade is carried through sea.’’ In the light of this 

statement, explain the role of Indian ports in the development of India’s 

foreign trade. 5 

OR 

 Explain with examples the development and significance of ‘Railways’ in 

India.   5 

29. On the given political outline map of India (on page 21), locate and label 

any five of the following geographical features with appropriate  

symbols :   51=5  

(29.1) The State with lowest level of Human Development Index (HDI) 

(29.2) The leading coffee producing State 

(29.3) Khetri – Copper mines 

(29.4) Bhilai – Steel plant  

(29.5) The Software Technology Park in Telangana 

(29.6) The western terminal station of East-West Corridor 

(29.7) The international airport in Punjab 
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ZmoQ> :  {ZåZ{b{IV àíZ Ho$db Ñ{ï>~m{YV narjm{W©`m| Ho$ {bE àíZ g§»`m 29 Ho$ ñWmZ na  
h¢ & {H$Ýht nm±M àíZm| Ho$ CÎma {b{IE : 

(29.1) _mZd {dH$mg gyMH$m§H$ (HDI) _| g~go H$_ ñVa dmbo amÁ` H$m Zm_ {b{IE & 

(29.2) H$m°µ\$s Ho$ AJ«Ur CËnmXH$ amÁ` H$m Zm_ {b{IE & 

(29.3) IoV‹S>r Vm±~m ImZ| {H$g amÁ` _| pñWV h¢ ? 

(29.4) {^bmB© BñnmV g§`§Ì {H$g amÁ` _| pñWV h¡ ? 

(29.5) Vob§JmZm _| pñWV gm°âQ>do`a àm¡Úmo{JH$s nmH©$ H$m Zm_ {b{IE & 

(29.6) nyd©-npíM_ J{b`mao Ho$ npíM_r {gao Ho$ ñQ>oeZ H$m Zm_ {b{IE & 

(29.7) n§Om~ _| AÝVam©ï´>r` dm`wnÎmZ H$m Zm_ {b{IE & 51=5  1 5=5  

30. g§gma Ho$ {XE JE amOZr{VH$ aoIm-_mZ{MÌ (n¥ð> 23 na), _| nm±M ^m¡Jmo{bH$ bjUm| H$mo   

                  VWm    go {XIm`m J`m h¡ & CZH$s nhMmZ {ZåZ{b{IV OmZH$mar H$s 
_XX go H$s{OE Am¡a CZHo$ ghr Zm_ CZHo$ nmg ItMr JB© aoImAm| na {b{IE :  51=5 

A. {dñV¥V dm{UÁ` AZmO H¥${f H$m joÌ 

B. à_wI g_wÐr-nÎmZ 

C. Zm¡ n[adhZ Zha 

D. CÎma A_o[aH$m _| g~go ~‹S>m Xoe 

E. Am¡Úmo{JH$ àXoe 

ZmoQ> :  {ZåZ{b{IV àíZ Ho$db Ñ{ï>~m{YV narjm{W©`m| Ho$ {bE àíZ g§»`m 30 Ho$ ñWmZ na  
h¢ : 

(30.1) `yao{e`m _| {dñV¥V dm{UÁ` AZmO H¥${f joÌ H$m Zm_ {b{IE & 

(30.2) A\«$sH$m _| {H$gr EH$ à_wI g_wÐr-nÎmZ H$m Zm_ {b{IE & 

(30.3) CÎma A_o[aH$m _| A§V…ñWbr` Ob_mJ© H$m C„oI H$s{OE & 

(30.4) CÎma A_o[aH$m _| g~go ~‹S>m Xoe H$m¡Z-gm h¡ ? 

(30.5) g§`wº$ amÁ` A_o[aH$m Ho$ {H$gr EH$ Am¡Úmo{JH$ joÌ H$m Zm_ {b{IE & 51=5 
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Note :  The following questions are for the Visually Impaired Candidates 

only, in lieu of Q. No. 29. Attempt any five questions : 

(29.1) Name the State having the lowest level of Human Development 

Index (HDI). 

(29.2) Name the leading coffee producing State. 

(29.3) In which State are the Khetri copper mines located ? 

(29.4) In which State is Bhilai steel plant located ? 

(29.5) Name the Software Technology Park located in Telangana. 

(29.6) Name the western terminal station of East-West Corridor. 

(29.7) Name the International Airport in Punjab. 51=5    

30. On the given political outline map of the World (on page 23), five 

geographical features have been marked as             and   .  

Identify them with the help of the following information and write their 

correct names on the lines drawn near them : 51=5   15=5 

A. An area of extensive commercial grain farming   

B. A major sea-port 

C. The shipping canal 

D. The largest country in North America 

E. An industrial region 

Note :  The following questions are for the Visually Impaired Candidates 

only, in lieu of Q. No. 30 :   

(30.1) Name an area of extensive commercial grain farming in Eurasia. 

(30.2) Name any major sea-port in Africa. 

(30.3) Mention an inland waterway in North America. 

(30.4) Which is the largest country in North America ?  

(30.5) Name any one industrial region of United States of America. 51=5 



 

 .64/A/1 20 
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àíZ g§. 29 Ho$ {bE  For question no. 29 

 

^maV H$m aoIm-_mZ{MÌ amOZr{VH$) 
Outline Map of India (Political) 

 



 

 .64/A/1 22 
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àíZ g§. 30 Ho$ {bE For question no. 30 

  


